. ) Doc No| TANK_VT14K4
TRIMEC) | 8" TANK WiTH 1 %" INTEGRATED VALVES WITH INTEGRATED BULKHEAD o t———
*
HEADER TANK PED* CHARACTERISTICS VT14K4
PARAMETERS VALUES NOTE >
WORKING PRESSURE Max 8 Bar
ENVIRONMENT -40°C +100°C STAINLESS STEEL
TEMPERATURE (T) -20°C +70°C CARBON STEEL
CAPACITY 35 I/m
COLOUR RAL 5012 FOR CARBON STEEL
SOLID 2
AIR QUALITY 4 ForT>+3°C
CLASSES WATER 3 For-20°C < T < +3°C
in according to 1SO 8573-1 2 For-40°C <T <-20°C
OIL 1
PROTECTION LEVEL IP65
PARAMETERS VALUES NOTE
WORKING PRESSURE 1.5-8 Bar
TEMPERATURE -40°C +100°C STANDARD DIAPHRAGM
RANGE -20°C +200°C VITON DIAPHRAGM
KV 62
WEIGHT 2.8-3Kg
No| DESCRIPTION |STANDARD MATERIAL| —.ort | HITEWE 1 KIT CODE — 1 KIT CODEHI
OPTION | MATERIALS STANDARD TEMP
" CARBON STEEL or
1 BLOW PIPE 1 4 SS AISI 304 304L 316 316L N/A AS STANDARD - -
" CARBON STEEL or
2 HEADER TANK 8 SS AISI 304 304L 316 316L N/A AS STANDARD - -
3 [ BODY 15" INTEGRATED ALUMINIUM DIE CAST N/A AS STANDARD
VL1 TO4 VL1 TO4HT
4 DIAPHRAGM 1 }5" NBR 70SH N/A VITON s00T0 s00T0
5 SPRING 304 STAINLESS STEEL N/A AS STANDARD
6 COVER 15" ALUMINIUM DIE CAST N/A AS STANDARD VLOOAT18AN -
7 | SCREWS M8 + WASHER 304 STAINLESS STEEL N/A AS STANDARD - -
8 DIAPHRAGM %" NBR 70SH N/A VITON
9 SPRING 304 STAINLESS STEEL N/A AS STANDARD VL1500T04 VL1500T04HT
10 COVER %" ALUMINIUM DIE CAST N/A AS STANDARD VLOOATO8AN -
11 | SCREWS M6 + WASHER 304 STAINLESS STEEL N/A AS STANDARD - -
12 A PILOT BRASS + 304 STAINLESS STEEL STDY" G AS STANDARD PTTPXVB -
4 STD PG9 OPT
13 <D( CONNECTOR NYLON M20X1 5 AS STANDARD - -
Z 130° RATED NYLON
< - -
14 '(7) COIL ENCAPSULATION AS STANDARD SEE COIL DETAILS
15 CLIP CARBON STEEL GALVANIZED - AS STANDARD - -
16 NUT CARBON STEEL - AS STANDARD - -
17 RUBBER SLEVE CARBON STEEL - AS STANDARD - -
18 HEXAGONAL NUT CARBON STEEL - AS STANDARD - -
19 RUBBER WASHER CARBON STEEL - AS STANDARD - -
20 ROUND NUT CARBON STEEL - AS STANDARD - -
ACCESSORIES DETAILS COIL DETAILS
KIT CODE EQUIPMENT KIT CODE VOLTAGE
%*"}f’{e;;?;e c%?:Lklge BB-24/DC DC24V
SO (Standard Optional) 4 %" Plug BB.24/50 AC24V 150 Az
1" Plug AC26V /60 Hz
i BB-110/50 AC115V / 50-60 Hz
FO (Full Optional) Standard Qptonal +
y BB-220/50 AC230V / 50-60 Hz
TIGHTENING TORQUE Power Absorption at 20°C | 20 VAAC/20 W DC
. F (155°C) and H (180°/200°C
No DESCRIPTION VALUES Isolation Class a(ccordin)gatr(]) VD(E regulation)
6 SCREWS M8 20 Nm +2 *
STANDARD AVAILABLE ON DEMAND
9 SCREWS M6 14 Nmz14 CERTIFICATION CERTIFICATIONS
10 PILOT 10 Nm + 1 ASME
11 STD CABLE GLAND 5Nm+1 PED GOST
SCREW M3 2Nm+1 ATEX
TRIMEC s.r.l.Via pta. Alzaia Trieste, 3 CESANO BOSCONE (Mi)-ltaly Tel.02 66302616 Fax. 02 66302638 copyright. Rev. No 01
This drawing cannot be used for building the object, nor disclosed to third parties or reproduced, without a written authorization.
The owner company protects jts rights according to the law. Issue Date | 26/03/14




Doc No| TANK_VT14K4
TRIMEC) | 8" TANK WITH 1 %" INTEGRATED VALVES WITH INTEGRATED BULKHEAD [ t——.

EXPLODED

N N
BN (&)

N
w

®)
©)

©

®EE 0 &

N
(=]

TRIMEC s.r.l.Via pta. Alzaia Trieste, 3 CESANO BOSCONE (Mi)-Italy Tel.02 66302616 Fax. 02 66302638 copyright. Rev. No 01

This drawing cannot be used for building the object, nor disclosed to third parties or reproduced, without a written authorization.
The owner company protects jts rights according to the law. Issue Date | 26/03/14




Doc No| TANK_VT14K4
TRIMEC) | 8" TANK WITH 1 %" INTEGRATED VALVES WITH INTEGRATED BULKHEAD - -

ASSEMBLED DIMENSIONS o9
iy
G 11/2" Female =
mm
199+ o)
8915

N o W0

G 3/8" O =

> c

Female SRS
C
o
+
.
AN
c ) o
o I® +
. ~ E ~
5 of &
M -
2 88
o, 1 I
© £
n E
G 11/2" Female 0 m

191%5
2463%5
S
()]
& 5

@219,1 = 8" Step min = 140

TRIMEC s.r.l.Via pta. Alzaia Trieste, 3 CESANO BOSCONE (Mi)-Italy Tel.02 66302616 Fax. 02 66302638 copyright. Rev. No 01

This drawing cannot be used for building the object, nor disclosed to third parties or reproduced, without a written authorization.
The owner company protects jts rights according to the law. Issue Date | 26/03/14




Doc No| TANK_VT14K4
n n _
TRIMEC) | 8" TANK WiTH 1 %" INTEGRATED VALVES WITH INTEGRATED BULKHEAD [ —
NI NI
shot shot
390 390
360 360
330 330
300 300
270 270
240 240
6bar 100ms
210 210
180 Bbar 050ms 180
r5bar 050ms 4bar 100ms
150 150
. . 3bar 100ms
o 3bar 050ms o 2bar 100ms
60 2bar 050ms 60
30 30
0 0
°© 2 8 2 8L 8% 8§ 88 B E K LK T £ 8 ¢ 8 L 8 8 8 8 8 & 8 8§ L g T
A Litres - < - - - - - oA Litres
Tank Volume Recommended Tank Volume Recommended
NI NI
shot shot
390 390
360 360
330 330
300 300 6bar 200ms
270 270
bar 150
210 210 4bar 200ms
180 / 2bar 150ms 180 /
150 // 150 / Sbar 200ms
120 //__ 120
//
% . %
60 60
30 30
0 0
°© 2 g ¢ 8 R° 88§ BB B B E L K Tk © 8 9 8 R 8 8§ 88 8 8 8 2 { Tk
e ¢ e e ¢ 2 2 3 § | e & e e ¢ 2 2 3 § |
Tank Volume Recommended Tank Volume Recommended
TRIMEC s.r.l.Via pta. Alzaia Trieste, 3 CESANO BOSCONE (Ml)-Italy Tel.02 66302616 Fax. 02 66302638 copyright. Rev. No 01
This drawing cannot be used for building the object, nor disclosed to third parties or reproduced, without a written authorization.
The owner company protects jts rights according to the law. Issue Date | 26/03/14




